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ACCOUNTANCY
Full Marks : 80
Pass Marks : 24
Time : Three hours
The figures in the margin- indicate full marks
for the questions.
Q. No. 1 (@) ' x4 =4
1@ o . 1x2 = 2
1 (c) ’ 192 =, 2
Q. Nos. 2-7 carry 2 marks each S 2x6 = 12
Q. Nos. 8-11 carry 3 marks each .~~~ . 3x4 - 12
Q. Nos. 12-15 carry 6 marks each 6x4 = 24
Q. Nos. 16-18 carry 8 marks each . 8x3 =2
Total = 80
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(1)  Fill in the blanks with appropriate word/words : (any four) 1x4=4

TG =HR AR 7 ] 2 (Reerean s1fao1)

(b)

33T ACOU

(1)

(i1)

(111)

(iv)

(v)

Equity shareholders are of the company.
ARLAGLTE FPe (PI=ATI |

Receipts and Payments account is a summary of

transactions.

Tul-496 fZpie (TR

Maximum number of members in a partnership business is

ERPTR Y R |

Bt TR RN AE D AP TR (=R |
In the absence of any agreement, at the time of retirement of

partner goodwill is to be adjusted in ratio.
@I e wikiEE, SR T SRR SRS A |
PSS RSN A A | |

Profit and Loss Account is also known as statement.

s gfee wat @

G CR G20 Rl R

State whether the following statements are True or False: 1x2=2

Ood GIGE@I 8T (7 SSE &4l 8

(i)

(i)

A company has a separate Iegai entity different from its

members.

@B @RI 3R WP 29 23T O T2 Tl AT |

Quick Assets = Current Assets - Inventory - Prepaid Expenses.
o AR = SRS T=ienE - TGS 4 - WiEwews |

[2]
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() Choose the correct alternative : 1x2=2
T TeICh! AL T 8

(i) The portion of the capital which can be called up only on the
winding up of the company is called :

(AT ST FTAAOC Toi PIRA AN FoL T (il =W 8

(a) Authorised capital

SIS e
(b) Uncalled capital
oreel YA
(c) ~ Reserve capital
HfE© Yo
" (d) issued capifal
REge T
(i) Donation received for a specific purpose.is a:
Rea TR A S A W (AR 3
(aq) Capital Receipt
| TAL] ST
(b) Revenue Receipt |
5fere =g
(c) Asset
F=oifg

(d) Liability
o)
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2. - What is a Registered Debenture ? 2

% AGIFS Aeioig T F2

OR/ 7z -
What is ‘Data validation’ ?
‘Data validation’ S &2
3. What is Goodwill of a business ? 2.
AT AN W (e
4.  What is meant by Cash Flow from Operating Activities ? 2

APARS TR a1 T 22 A Joit w2

5. A and B are partners sharing profits and losses in the ratio of 5:3. C is
admitted as a new partner for ¥ th share, which he acquires ¥ th from A
and Y,th from B. Calculate the new profit sharing ratio. 2

A IR B 5 SR SR (HSTEAIT 5 : 3 SoNOS FG-ERDH 357 e |
CHSTENE C-F TgA SRAMIT fpIcet #ET | C-(F T Y, W 9K | 3 9l (98
A TR Y O AR B AR[1 Y, W FCe | AgH aS 3TN Sete AT 3=

OR/ 73

Mention two rights of a partner. : -2

GG SIS 70! (LT T 34 |

6.  Write two limitations of ratio analysis. : 2
wee Roswem 7o eRaet B | ‘
| OR/ A%
Mention fwo limitations of financial statements. ' 2

e aferamas 7o TaRae! S 3941 |

33T ACOU [4]
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OR/ 7z
What is sequential code ? . ' 2
Sequential T & =ae |
7.  What is the meaning of Cash Flow from Investing Activities ? . 2
fiFcae FrfT=eR @ @ T S e 9y o
OR/ R4t |
What is meant by the term ‘Cash Equivalents’ ? ' : 2 -
Folwa G AR il R g e |
OR/ Izt
Write a note on ‘Queries’. ' 2

‘Queries’ ¥ S*SS aft (Gl o |
D

8. Write any three essential features of partnership. o 3

fﬂmﬁﬁa farereat fofsT SR &Ry far |
OR/ 7z

Write three distinctions between ‘Profit and Loss Account and ‘Profit and
Loss Appropriation Account’.

FrS-CEARe fZoie’ mwmw%mmﬁm‘am ottt w1

9.- Give any three differences between equity shares and preference shares.
| , 3

TN W ARG oA Mers 4 e fofor =iy f
OR /712t

Explain the following terms : ‘ _ ' 3
O AR YR =1 8
(i) Calls-in-arrears
RSEIACHT
(i) Calls-in-advance

SiNT A1

33T ACOU . [5] Contd.
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OR/ 7z

Mention three uses of Spreadsheet. ' 3

Spreadsheet-3 oAby IRRT Tz =

10. Calculate the income from subscription for the year 2021 from the
following information : . 3

TR SR @ 2021 IR @ IS A9 (A =i Al Refa a1 ¢

1-1-2021 | 31-12-2021
(Rs.) . (Rs.)
Subscription outstanding | 3,000 2,000
SR I
Subscription received in advance ' 4,000 - 5,000
wiawed eH ;

Subscription received during the year 2021 - Rs.70,000.
2021 IR foess e T e “AfT9 — 70,000 T |
. OR/ Mt
Mention three objectives of preparing finan;:ial statements. 3
RS Ao eRgoTIR o0 T Trad 341 |
, OR/ 124t
Explain Database Management System. | 3

TIDIEAS “ARbEN *miet [yt [ |

11. Current Liabilities of a company were Rs.60,000 and its.current ratio was
2:1 on 30th March, 2021. On 31st March, 2021, the company paid
Rs.20,000 to a creditor. Calculate the current ratio after the payment. 3

30 W5, 2021 SRS @B @K sEe @R AR 60,000 T W= Blere
SRS 2 : 1 WfeE 1 31 T, 2021Eﬁﬂ—@rmnﬁﬁmzoooow19new‘ﬂﬁma
et | NSRS ﬁﬁmwmsﬁ—wﬂ’ﬁ@aﬁn

- 33T ACOU [6]
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OR/ %31
Mention t/iree differences between ‘Capital account’ and ‘Current account’.
| ‘ | 3
T Zpior o eTe Rpies wiere om0 oty Srmd =t |
o OR/ A%
Describe three features of the Spreadsheet. 3

Spreadsheet-3 oy 2y I<f1 =1 |

12. Prepare a Comparative Income Statement from the following particulars :
6
o YR H A P S S oS 1 8
Particulars (Rg=) 2020 (2) 2021 ()
Gross Sales (J5 R&F1) 1,20,200 1,35,800
Sales Returns (R@ f=e) 10,400 7,600
Cost of Goods Sold (Rt =1 sl feiwt) | 80,000 84,000
Operating Expenses (TATE IAFTE A96) 24,000 18,000
Income Tax (SNTIF) - 50% 50%
OR/ #1z3r
What is meant by analysis of financial statements ? Explain in brief the
tools of financial analysis. | 1+5=6
e efsrmme Rrsad & ot a2 Rew Rotgas wnfzemeig o5 3971 =4 |
OR/ A%t
Give the limitations of computerised accounting system. 6
FTHFS @RI wied TTREerHR |
33T ACOU - [7] Contd.



BIKALI COLLEGE LIBRARY

13. What is meant by issue of debentures as Collateral Security ? Mention four

differences between shares and debentures. 2+4=6
wigafre wifim et wmﬁﬁmﬁw@m?w\wmmmﬂmm
5IfSoT ey ferai |

OR/ A%t
Explain the objectives of Database Management System.(DBMS) ? 6
IR “AfRBE Tao3 SriRTR 909 3 | |

OR/ 731

Give Journal entries for issue and redemption of debentures under the

following situations : , v 2%3=6"
oo Al SRERTR AW WA Rie o AReiies wicw ok fax 3

(@) 1,000 12% debentures of 100 each, issued at premium of 5% and

redeemable at par.

1,000 B, 100 B 12% 7@ 5% SERTe R I @i WII©
AR | |

b)) 2,000, 12% debentures of T100 each, issued at 5% discount and
redeemable at a premium of 5%. ,
2,000 B, 100 SRR 12% @ 5% IBro R T W= 5% AT
ARG |

(c) 3,000, 12% debentures of Z100 each, issued at par and redeemable at
a premium of 5%.
3,000 BI, 100 SIRI 12% Wdoi@ wg<e RE 3@ = 5% HIT©
ARTNGTT |

33T ACOU [8]
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14. A, B and C were in partnership sharing profits and losses equally. On
31st December, 2021 their Balance Sheet was as follows : 6

A, B HI% C SOoos #Me-ERoH Aot a3 afooms wfine sifesT |
slm 2021 ©IffS (SSEIRR THG--Iadq ©oT6 fal 4109 ifeeT 8

Balance Sheet (¥3G-71@)

Liabilities ((9=1) 2 Assets (377(fG) g
Capital (J514) Plant and Machinery 10,000
A =10,000 T S TFAIS
B = 5,000 Stock (FGS) - 4,000
C = 5,000 20,000 -| Sundry Debtors - 6,000
Reserve Fund 3,300 | "Ry c=miR
Hes e Cash at Bank 5,000
Creditors (2ieqiviq) 2,000 | RO Tl _
Cash in hand . 300
ol el | “
25,300 25,300

" The firm took a joint life policy for 29,000 payable on the first death.

ARSHINAEH A Jro ARTNGRT 9,000 THF @4 (N I Ao =ifea |

C died on 31st March, 2022. Under the partnership agreement the
executors of a deceased partner were entitled to :

31 W6, 2022 ©if¥¥s CI TP W piewre Jo weimieg dfoEsE <7 ¢
(i) Amount standing to the credit of deceased partner’s capital account.
YO SAMIRT JeTK ZpioiF (s 4 oy & |
(ii) His share of goodwill on the basis of twice the average of the past
" three years’ profits.
fRste fofea 9 siex adde fofes ¢ c—\e‘q'wwma

~ (ifi) Share of profit from the closing of the last financial year to the date
of death on the basis of last year’s profits.

Rior o oA oS fRoTe T TR SR =1 QR SR “Treq
SR |

(tv) Interest on capital @ 5% p.a.
TR 5% FE TAFH SATS S|

33T ACOU ' [9] Contd.
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(v) Profits for the last three years were :

fere fofaem wiresTyy wifeE s

2019 = 26,000
2020 = 28,000
2021 = T7,000

Prepare C’s capital account on the date of his death.
C2 oK IRy ($63 oA Z519 ogs =1 |
OR/ 71

Prepare Income and Expenditure Account from the following Receipts
and Payments Account and other details of ‘Parizat’ club for the year
ended 31st December, 2021 :

31 f&rEe, 2021 Sty SE[ 6] @ ~NREe FIE oo A E-I96 Zoiet
R S {6 o) IFOR AE WY 259 s w4 3
Receipts and Payments Account

6

Dr. (RIS ERERG)) Cr.
Receipt () , (%) | Payments (33b) ()
To Cash-in-hand on 1.1.21 10,000 | By  Salaries 12,000
1.1.21 Siffe 79 ol - ek
To  Subscriptions received 20,000 | By  Rent and Taxes 6,000
1Y R oY R N
To Entrance Fee 10,000 | By  Electric Charges 3,000
oS M Rt <=m
To Donations 18,000 | By  Sports Goods Purchased 25,000
g (4 A @ ‘
-|To  Donation for Club House 17,000 | By  Postage 5,000
FR 9 AR W — T \
"|To Life Membership Fee 5000 | By  Construction of Club House 36,000
S A WA FR @ i
To Maintenance Grant 6,000 | By Sundry Expenses 2,000
SHfSbIER Sw Rikq 4p _ -
To Capital Grant 7,000 | By  Payment of Outstanding Expenses 500
TAGl S weme 9 AR
To Sale of Furniture 1,000 [ By  Cash in hand on 31.12.21 _4,500
WK R 31.12.21 OIR¥® 751 &
94,000 94,000
33T ACOU [10]
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- Other details (S=j17y fae34) :
(i)  Total of Entrance Fee and Life Membership Fee are to be capitalised.

~ ofS TIpE SR WG 7] ARER TR (7 RIS IRI e |
(i1) Depreciation on Sports Goods is ¥2,500.

(4E ASTT SIS TFIR SARd 2,500 T |
(iii) Book value of the furniture sold was 1,500 on the date of sale.

RER oiRes Rl 31 S6IRT 32 =7 1,500 5t SNz |
OR/ 31
How would you compute the amount due to a retiring partner ? 6

GG SEFAIATFN TRNMIIT ARAT T 471~ e [l sRkare

15. Sunu, Nanu and Nidhi are partners in a firm sharing profits in the ratio
of 2:1 :1. Their Balance Sheet as on 31st March, 2021 was as under : 6

o, 7 O [{fE 2:1:1 SIS o 3BT T AV Q9T WM SifEe |
31 Wb, 2021 SRS CHSTEAR Tgesiq wore fral w3ei1 wifeet ¢

Balance Sheet @'ﬁ-’i@)

Liabilities () 3 Assets (377{{) 2
. Creditors (#l\sqwiR) * 50,000 | Land and Building 80,000
ol &% o
Capitals (F54) : Plant and Machinery | 56,000
| FIFAN % TFANS
Sunu (§3) 80,000 ° Furniture (%63€) | 30,000
Nanu (J5) 80,000 Motor Car (333 2Ii&}) 54,000
Nidhi (ff&) 60,000 | 2,20,000 | Debtors (@A) 48,000
Cash (|91%) 2,000
2,70,000 2,70,000

The firm was dissolved on the above date. The assets realised as follows :
AR Sl ARSHIR SRR T | TR O Rl e W 2 8
Furniture (SN53R) - ¥ 20,000
Land and Building (Y ®1% &) - %1,00,000

33T ACOU [11] _ Contd.
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Plant and Machinery (IR3M 9= TFAfe) - 2 50,000

Motor Car (TR 41S1) - ¥ 28,000

Debtors ((AMR) | - 50% of Book Value (320R 50%)
Realisation Expenses were ¥2,000 (WW‘W 2{E 2,000 5

Prepare Realisation Account, Partner’s Capital Account and Cash Account
to close the books of the firm. '

aﬁm&ﬁmw%mmqﬁm,wﬁwaﬁ@ﬁmﬁm
o 27 owe 31|

OR/ 723

Write the situations when a partnership firm is dissolved by the court. 6

VARl ST PN AT ARSIz ot |
16. Amlan Company Limited issued 50,000 equity shares of 210 each at a

premium of ¥2 each, payablé as under : : : 8
On Application - 2
On Allotment - 25 (including premium)
On First and Final Call - ¥5

The shares were fully subscribed, called up and paid-up except allotment
and call money on 500 shares. These shares were forfeited.

Give journal entries in the books of the company.
Amlan @={iN} AfGre «2f$3= 10 5 w07 50,000 < T+ eifodTe 2 5 -
HigzRe Rid 3@ Wik 30 wore fral 9@ 7Reay IR @17 e .
SR S90S — 2 5
WWGﬁ‘—SW(ﬁWW)‘
AL P POIT TeS T[S — 5 5l

GHAAERITE AR T2 @ (oA 5, (NIRRT Ooid < T i 500 4
@wmeﬂa—wﬁamwwaﬁ@ﬁwm AR e | @2
SHAGYR AT FA T |

@RI ITC AT Sitawt 2R |

33T ACOU [12]
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OR/ 7123t

Write short notes on : (any four) ; 2x4=8

5y (O ot ¢ (e sif<o))

(1) Securities Premium (2f$gfs =ifaz®)
(b)  Over Subscription (wfds @Tls)
(c) Re-issue of forfeited shares (?IK@'EIT@ Gxieiag 9 [fee)
(d) Unfssued Capital (SRfeFe T&74)
(¢) Current asset (5feT® 7=ife)
(/» Income Statement (SR forave)
~ OR/ Izt
Explain the steps involved in Computerised Accounting System in detail.
| 8
TGS FRIT FAF T AMCFAPTR Aewor 6t 31 |
; 17. (a) Explain the average profit method of valuation of goodwill. 3
IR EHAT AT S oS! T =0 |
(b) What is revaluation account ? - 2
AT 1ot e 2
'(c) ‘How the adjus"cment of capitals ié made at the time of admission of
a new partner ? o | 3
WWWQW%W@Wﬂ(WWVW@?
33T ACOU
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OR/ 71z
Nitul and Atul are partners in a firm sharing profits in the ratio 2:1.
Pranjal is admitted into the firm as a new partner with ) th share in
profits. He will bring 230,000 as his capital. The Balance Sheet of Nitul and
Atul as on 31.3.2020 was as under : 8
RO S Qe 2 : 1 SHAAITS oS 3571 Q3 fodin S | dlgers stred Vi
SR TS ST T WA 2pite! ©fS 31 T | (958 e o1t 30,000
Bl SR 1 31.3.2020 ©ifR® W SR SgeR TFe-71add wers Mae W wifes ¢

Balance Sheet (¥5¢-°1a)

Liabilities (1) T Assets (71%) g
Creditors (elemiF) 8,000 | Cash (F5%) 12,000
Bills Payable (&0 &) 4,000 | Debtors ((7=IME) - 8,000
General Reserve (@9 %) 6,000 | Stock (IF©) 10,000
Nitul’s Capital (FgeR 1=1&7) 52,000 | Furniture (SI53R) 5,000
Atul's Capital (STgeR 3F14R) 30,000 | Machinery (I%-if®) 25,000

Building (©39) 40,000
1,00,000 1,00,000
Other terms of the agreement are as under :
B&R S 5OE OeTe Al 4399 3

(i) Pranjal will bring in 12,000 as his share of goodwill.
ANGTH 12,000 5 (ST FNI W ot wifa)
(i) Building was valued at 245,000 and Machinery at ¥23,000.
T I 45,000 T W% TSI 5 23,000 T A1 A T |
(iii) A reserve for bad debt is to be created at 6% on debtors.
| (FIMRR GRS 6% SHRRTY WoR A AR ofon TR =AMt |

Prepare Revaluation Account, Partner’s Capital Account and the Balance
Sheet of the new firm.

TR fZotel, WeTMIR T4 {21 e g eifovine Tge-siads aes 31|

33T ACOU [14]
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18. Amit and Aditya are partners in a firm sharing profits and losses in the ratio
of 3 :1. The Trial Balance of the firm as on 31st December, 2022 was as under :
e o HWiTe] 3:1 TJACS AS-(EARFGH I I 9AF 2AfSHAT TR |
31 fEwaR, 2022 ©ivs AV Tga femea wore fwa W wifesT 8

Trial Balance (¥%%@ =« 71@)

Debit ((%ib) 3| Credit (%) 2
Machinery (32eile) 35,000 | Capital () : '
Salaries (R¥3)) 15,850 Amit ¥ 50,000 :
Carriage outward (Rewefve ARkaz) 2,140 Aditya T 30,000 80,000
Building (%) 54,000 |Trading Account (3-R&g fZoi) :
Furniture (S53) - 25,000 - Gross Profit (33 e 85,700
Debtors ((AIR) 7 48,200 | Creditors (A1€AMIR) 44,560
Bad Debts (Sepaled ) 1,400 |Bank Loan (@SR ¥9) - 21,000
Cash at Bank (RS T &) 1,200 | Discount (313!) 4,500
Investment (RFirais) 10,000 | Commission (%fie) 1,000
Cash in hand (AW Z<e ) 1,170 | Outstanding Wages (WM TER) 1,200
Establishment charges (4fSPR 4%) 13,000 | Provision for Doubtful Debt 1,000
Closing Stock (i o) 10,000 |(TwZEE R TRAR %)
Depreciation on Machinery 3,500 :
(Tifes w)
Publicity (257) 5,000
Drawings (¥1%9) : |

Amit (&) 3 5000

Aditya (S1ft9]) 3 3,000 8,000
Rent and Rates (SF¢! % ) 5,500

2,38,960 2,38,960

Additional Information (Sfsf<@® ©9y) :

(i) Prepaid publicity 2500 (SN 2wa &5iE 500 Gl)

.(ii) Commission received in advance 200 (Sfawelie e 200 T)

(iii) Provide for doubtful debts @ 5% on Sundry debtors. (VST STS
5% TIS ACHEEF AR A SRR 77 IRA ACS)

(iv) Allow interest on partners’ capital @ 5% p.a. (TAMIT EW A BiS)
2R 5% R O 4= A |

From the above Trial Balance and additional information, prepaxe a Profit

and Loss Account, a Profit and Loss Appropriation Account for the year

ended 31st December, 2022 and a Balance Sheet as on that date.

ARG TS Feod W% SR ©2d #[1 31 {5157, 2022 ©ifvs S@eRl FOR AR

are- G 2517, m—@wﬁwﬁmw ﬁWW%MWI

33T ACOU [15]



